### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	21.69	5.3020	115.0000	100.00	3	Cannon, Paul
2	115	42.34	2.7161	58.9124	51.23	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	115	38.51	2.9862	115.0000	100.00	10	Griffiths, Jeremy
2	115	38.67	2.9739	114.5242	99.59	12	Lydon, Mark
3	115	43.08	2.6695	102.8006	89.39	2	Spooner, Wayne
4	115	96.88	1.1870	45.7127	39.75	9	W, Mike
5	115	158.04	0.7277	28.0223	24.37	13	Rochelle, Greg
6	100	172.48	0.5798	22.3272	19.41	8	Tomalin, Jos
7	115	268.42	0.4284	16.4990	14.35	7	Murdock, Rohan

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	32.61	3.5265	115.0000	100.00	1	Davies, Martin
2	115	35.94	3.1998	104.3447	90.73	11	Davies, George

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	32.63	3.5244	115.0000	100.00	5	Jiggens, Mark
2	115	38.00	3.0263	98.7487	85.87	4	Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	7.81	5.7618	45.0000	100.00	3	Cannon, Paul
2	45	12.96	3.4722	27.1181	60.26	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	9.94	4.5272	45.0000	100.00	10	Griffiths, Jeremy
2	45	11.44	3.9336	39.0997	86.89	9	W, Mike
3	45	12.87	3.4965	34.7552	77.23	2	Spooner, Wayne
4	45	13.32	3.3784	33.5811	74.62	8	Tomalin, Jos
5	45	15.46	2.9107	28.9327	64.29	12	Lydon, Mark
6	45	48.42	0.9294	9.2379	20.53	13	Rochelle, Greg
7	45	67.50	0.6667	6.6267	14.73	7	Murdock, Rohan

#### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	8.60	5.2326	45.0000	100.00		Davies, Martin
2	45	12.16	3.7007	31.8257	70.72	11	Davies, George

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	8.08	5.5693	45.0000	100.00	5	Jiggens, Mark
2	45	11.26	3.9964	32.2913	71.76	4	Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	8.09	3.7083	30.0000	100.00	3	Cannon, Paul
2	30	12.26	2.4470	19.7961	65.99	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	30	7.06	4.2493	30.0000	100.00	2	Spooner, Wayne
2	30	7.84	3.8265	27.0153	90.05	10	Griffiths, Jeremy
3	30	11.02	2.7223	19.2196	64.07	9	W, Mike
4	30	11.03	2.7199	19.2022	64.01	12	Lydon, Mark
5	30	19.91	1.5068	10.6379	35.46	8	Tomalin, Jos
6	30	39.19	0.7655	5.4044	18.01	13	Rochelle, Greg
7	5	61.27	0.0816	0.5761	1.92	7	Murdock, Rohan

#### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	8.67	3.4602	30.0000	100.00	11	Davies, George
2	30	9.47	3.1679	27.4657	91.55	1	Davies, Martin

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	6.12	4.9020	30.0000	100.00	5	Jiggens, Mark
2	30	14.75	2.0339	12.4475	41.49	4	Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	13.00	4.6154	60.0000	100.00	3	Cannon, Paul
2	35	17.44	2.0069	26.0895	43.48	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	60	14.92	4.0214	60.0000	100.00	10	Griffiths, Jeremy
2	60	19.32	3.1056	46.3354	77.23	2	Spooner, Wayne
3	60	20.95	2.8640	42.7303	71.22	12	Lydon, Mark
4	60	29.67	2.0222	30.1719	50.29	9	W, Mike
5	60	63.14	0.9503	14.1780	23.63	8	Tomalin, Jos
6	60	63.26	0.9485	14.1511	23.59	7	Murdock, Rohan
7	60	67.87	0.8840	13.1899	21.98	13	Rochelle, Greg

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	13.66	4.3924	60.0000	100.00	1	Davies, Martin
2	60	17.09	3.5108	47.9579	79.93	11	Davies, George

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	12.27	4.8900	60.0000	100.00	5	Jiggens, Mark
2	60	19.42	3.0896	37.9094	63.18	4	Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	8.00	5.6250	45.0000	100.00	3	Cannon, Paul
2	45	14.05	3.2028	25.6228	56.94	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	10.75	4.1860	45.0000	100.00	10	Griffiths, Jeremy
2	45	13.34	3.3733	36.2631	80.58	9	W, Mike
3	45	13.37	3.3657	36.1818	80.40	2	Spooner, Wayne
4	45	14.02	3.2097	34.5043	76.68	12	Lydon, Mark
5	45	19.69	2.2854	24.5683	54.60	8	Tomalin, Jos
6	45	53.38	0.8430	9.0624	20.14	13	Rochelle, Greg
7	45	61.27	0.7345	7.8954	17.55	7	Murdock, Rohan

#### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	11.74	3.8330	45.0000	100.00	11	Davies, George
2	45	14.27	3.1535	37.0217	82.27	1	Davies, Martin

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name
1	45	9.63	4.6729	45.0000	100.00	5 Jiggens, Mark
2	45	12.12	3.7129	35.7549	79.46	4 Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	21.05	4.0380	85.0000	100.00	3	Cannon, Paul
2	85	37.71	2.2540	47.4476	55.82	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	85	30.60	2.7778	85.0000	100.00	10	Griffiths, Jeremy
2	85	34.61	2.4559	75.1517	88.41	2	Spooner, Wayne
3	85	42.73	1.9892	60.8706	71.61	12	Lydon, Mark
4	85	60.01	1.4164	43.3428	50.99	9	W, Mike
5	85	70.17	1.2113	37.0671	43.61	8	Tomalin, Jos
6	85	112.44	0.7560	23.1323	27.21	7	Murdock, Rohan
7	85	128.63	0.6608	20.2208	23.79	13	Rochelle, Greg

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	25.06	3.3919	85.0000	100.00	1	Davies, Martin
2	85	52.76	1.6111	40.3734	47.50	11	Davies, George

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name
1	85	24.06	3.5328	85.0000	100.00	5 Jiggens, Mark
2	60	52.25	1.1483	27.6287	32.50	4 Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	10.17	5.8997	60.0000	100.00	3	Cannon, Paul
2	60	16.48	3.6408	37.0267	61.71	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	60	14.88	4.0323	60.0000	100.00	10	Griffiths, Jeremy
2	60	16.34	3.6720	54.6389	91.06	2	Spooner, Wayne
3	60	19.38	3.0960	46.0681	76.78	12	Lydon, Mark
4	60	33.52	1.7900	26.6348	44.39	9	W, Mike
5	60	74.00	0.8108	12.0649	20.11	13	Rochelle, Greg
6	60	106.45	0.5636	8.3870	13.98	8	Tomalin, Jos
7	60	150.48	0.3987	5.9330	9.89	7	Murdock, Rohan

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	12.87	4.6620	60.0000	100.00	1	Davies, Martin
2	60	14.87	4.0350	51.9301	86.55	11	Davies, George

### August 2023

Printed August 7, 2023 at 10:50



PT	S TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1 6	0.00	7.4442 2.5210	60.0000 20.3193	100.00 33.87	5	Jiggens, Mark Marechal, John

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	100	25.29	3.9541	100.0000	100.00	3	Cannon, Paul
2	100	32.51	3.0760	77.7914	77.79	6	Nelson, Mick

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	100	31.54	3.1706	100.0000	100.00	2	Spooner, Wayne
2	100	32.00	3.1250	98.5625	98.56	10	Griffiths, Jeremy
3	100	32.20	3.1056	97.9503	97.95	12	Lydon, Mark
4	100	94.68	1.0562	33.3122	33.31	9	W, Mike
5	100	144.80	0.6906	21.7818	21.78	13	Rochelle, Greg
6	100	210.27	0.4756	14.9998	15.00	8	Tomalin, Jos
7	85	255.73	0.3324	10.4833	10.48	7	Murdock, Rohan

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	100	27.52	3.6337	100.0000	100.00	1	Davies, Martin
2	100	28.03	3.5676	98.1805	98.18	11	Davies, George

### August 2023

Printed August 7, 2023 at 10:50



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	100	21.47	4.6577	100.0000	100.00	5	Jiggens, Mark
2	100	29.64	3.3738	72.4359	72.44	4	Marechal, John